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Example What is the size



A10e19 AngUIIIUINYes ABC vuenauiiiyn O L

1. 2.

>

3

U

q
9

AFU
R

¢
d)

N8y



yuludiulasvasienaunasdlulaeisassuyy

Naeun Turenananeanu yuludulasvesienauinsessunlgdiulaafeanuy asll

YUIALNINY




Example In the figure below, chord AD intersects chord CB at point X. Given that

BAD = 37° and ADC = 38°, What is the size of CXD?
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Example Given that point O is the centre of the circle and AB is a diameter of u circle.

What is the size of ABC?
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Example From the figure, what are the sizes of unknown angles?
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Example The tangents from an external point touch the circle at points A and B. The

radius of the circle is 7 cm. and AC = 24 cm. Find the length of OC.




Example Given that point o the centre of the circle. CA and CB are tangents to the

circle, and BAC = 72°. What is the size of AOC?
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Example Find the sizes of the unknown angle.
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